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1|mpsa=7ikigss7| Iha ik K# | 37400 1| Tim{&#&552 | /ha| O RS | 42.150
2| mmuwrLoskigsss| N4 WA AR 31.050 2 Timi&EEHST | 3| IR FF | 40950
3 Timfkigo57 | /MR ZFESEHE| 39.300
3| Tim{kigHs>7 | /M [)lim &DY| 39.300
5| Timi&iEHS7 | /2| b8 #Fifg | 39.050
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1|mpsai=7ikigss7| Iha hig K 9.200 1| Timt&xig4557 | 3| /MR FF1 | 10.100
2| mmuwrLoskigsss| N4 WA EA 7.550 2 Timi&iEHST | /ha|RI TESZHE| 10.050
2| Timi&iEHS7 | /4| B30 EAES | 10.050
4 TimiKigH>57 | /MR HDOY[ 9.900
5] Tim{KigH9527 | 2| LB #Fifd 9.600
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1|mpsa=7rkigs57| N4 PN 9.500 1| TimiA9357 | /M| O 585 | 11.300
2| mmuwrLoskigsss| N WA EA 8.200 2| Timi&iEEHST | /3| IR FF | 10.600
3| TimfkigHs>5D | /2| dbBF Figs | 10.400
4 TimiKigH>57 | /M IlEE HDY[ 9.650
5| Tim{kigo57 | /MR ZESEE]  9.050
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1|mnsa=7ikigss7| Iha hiEg K 9.500 1| Timt&xig4557 | 3| MR FF1 | 10.250
2| Bt skigsss| N4 WA EA 8.300 2 Timi&iEHST | /| R TESEHE|  9.900
3| TimfKiEHSSD | M| BO HHE 9.400
4 TimiKigH>7 | /M IR HDOY[ 9.300
5] Tim{K#gH93527 | 2| kB #Fifd 8.450
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1|mpsa=7rkigs57| N4 hiR K 9.200 1| TimiAH9357 | /M| O 585 | 11.400
2| mmwALoowzsso| N4 WA EA 7.000 2| Timikigs57 | /2| 685 #Fifs | 10.600
3| Tim{kigHo57 | /M [)lim HDY| 10.450
4 TimiKigH>57 | /4 |E)I FESEEE] 10.300
5| Tim{k#gs>57 | /3| /R FFi | 10.000
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